EARAROBREBRT —5 XN—ZXBISH—F

20235118288 () 180&&E1H

I 2% 24 US5R 2%

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1500 =

[AE%] 1% :600,00H . 27&:210,000H  33#&:120,000 W . 437&:90,000H  53&:60,000 9

B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
11727 | RU—LIVRLZ 2 an‘ill’_n‘gﬁﬁi 1:(3_8).4 43-1-1 4120 - | 2 (4:121) E%;ﬂg—)\ (BEE)
R:AN/VwF— B:I9ASITZT7 RFBUZ
S = TEE :39. -4-4- . - BEOEB (BER)
2| 7—o~ux w2 S R/ IR A TS e
RIRIVIRAT AW IDAUT— B:T7HR— YRFHT7—1A
— s S FHII5eiE 139. -5-5- . - HREEX (BB
38| 9| Z¥FETSETL 28RS A R ) flo) e R
R:vad7II5Y B:EITSETL EiE BGE
> Pkl 3 -2-2- - REEX (BEE)
4 6| EARyFa— 2 | A% 1(.13;92.)8 2-2-2-2 | 42.6 5 (43 ;Em%
R:STU=FA B:TSUIVT P L]
R SREpEA . _g-8- — BrBE—5 (2GR
5l5l5| ZURTRAY 2 | 29 1(73?:? 8-8-8-7 | 41.7 3 (433 oL
RIAYVENY BFEATI/ LT e s
- P IS 41, -6-6- . — REEX (BER)
o B3| rEUFYRL "2 35 R I © & |meEm
RiZwF—oO0—-U— B:NFFOE ESHhIF—L
= s 2 | #IIER 1:41.1 6-7-7-8 | 43.0| — 9 44 |ROFF (BEE)
688 FTU—TSY 5.0 @) (r) | BN
RINMVTSY 8:FzU—TUVT hH B
— 4 2 | DOEEFME 1:42.7 9-9-9-9 |43.4| — 8 433 | MEEX (BEE)
8111 TILXY—=Ib 54.0 ®) () | BEBHIE
RNITRY BISL—YH-IL HESH IRFAT7—L
> - N 2 | XimmE 1:43.2 1-1-3-5 |45.8| — 7 | 455 |HEHBAF (BER)
9 4| DE/ 9=/ XOY i o Q172 (-2 | ®) OKC
RU—FHISYY B:OREALYAA BRALOYKS
@ 1—F—&BIENL
13—7F— 4,6,3,7,9,8,2,5,1
20—+ — 4,6,7,2,9,3,8,5,1
BEIESSES 7,6,4,2,9,3,8,5,1
43— — 7,6,2,9,4,3,5,8,1
[ BN
B 7 580 | | DA B 2-7 1609 = 2-7 380M9 3R 2-7-9 770
BB 7 130F9 7=9 410M RS E 2-7 420 3EH 75259 4,850M
2 110H4 2-9 220 5 B 7-2 1,210
9 1504

ABIC OV TRUTEREERRODDZE. THRIIZEL.




